



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\left(\frac{3}{5}\right)^2 - \frac{1}{4}\right) \times \frac{1}{5} + \left(\frac{1}{3} - \frac{1}{5}\right)^2 =$$

$$\left(5 + \frac{1}{2}\right)^2 + \frac{1}{2} - \frac{2}{5} - 2^2 =$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{1}{6}\right) \times \frac{1}{2} - \left(\frac{2}{3} - \frac{1}{2}\right)^2 =$$

$$\left(3 - \frac{1}{6}\right)^2 - \frac{2}{5} \times 4^2 - \frac{1}{4} =$$

$$\left(\frac{3}{4} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{4} - \frac{3}{5}\right)^2 =$$

$$\left(\frac{2}{3} - \frac{1}{5}\right)^2 + \frac{3}{4}\left(\frac{2}{5} - \frac{3}{4}\right) =$$

$$\left(\left(\frac{1}{6}\right)^2 + \frac{2}{3}\right) \times \frac{1}{4} + \left(\frac{1}{2} + \frac{1}{5}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{2}{3}\right)^2 + \frac{2}{5}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} - \frac{1}{5}\right)^2 - \frac{1}{4}\left(\frac{1}{4} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} - \frac{1}{4}\right)^2 - \frac{2}{3}\left(\frac{1}{4} - \frac{3}{4}\right) =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\left(\frac{3}{5}\right)^2 - \frac{1}{4}\right) \times \frac{1}{5} + \left(\frac{1}{3} - \frac{1}{5}\right)^2 = \frac{179}{4500}$$

$$\left(5 + \frac{1}{2}\right)^2 + \frac{1}{2} - \frac{2}{5} - 2^2 = \frac{527}{20} = 26\frac{7}{20}$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{1}{6}\right) \times \frac{1}{2} - \left(\frac{2}{3} - \frac{1}{2}\right)^2 = \frac{53}{225}$$

$$\left(3 - \frac{1}{6}\right)^2 - \frac{2}{5} \times 4^2 - \frac{1}{4} = \frac{62}{45} = 1\frac{17}{45}$$

$$\left(\frac{3}{4} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{4} - \frac{3}{5}\right)^2 = \frac{137}{1200}$$

$$\left(\frac{2}{3} - \frac{1}{5}\right)^2 + \frac{3}{4}\left(\frac{2}{5} - \frac{3}{4}\right) = \left(-\frac{161}{3600}\right)$$

$$\left(\left(\frac{1}{6}\right)^2 + \frac{2}{3}\right) \times \frac{1}{4} + \left(\frac{1}{2} + \frac{1}{5}\right)^2 = \frac{2389}{3600}$$

$$\left(\frac{1}{2} - \frac{2}{3}\right)^2 + \frac{2}{5}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) = \frac{59}{180}$$

$$\left(\frac{1}{2} - \frac{1}{5}\right)^2 - \frac{1}{4}\left(\frac{1}{4} + \left(\frac{1}{2}\right)^2\right) = \left(-\frac{7}{200}\right)$$

$$\left(\frac{1}{2} - \frac{1}{4}\right)^2 - \frac{2}{3}\left(\frac{1}{4} - \frac{3}{4}\right) = \frac{19}{48}$$